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1. %77 _{JIE (30%)
1.1 % y' -4y +4y=0 V3ifji# - (5%)

Sol: *'AJ y=¢e" f@’:[ij Eait=E

r’—4r+4=0

(r—2)2=0

r=2, r=2 (i)
y =C.e” +C,xe*

1.2 y"—2y' +2y=0 ;I/iE_]EJZLL - (5%)

Sol: 41y =™ I B 17

r’-2r+2=0
o 2EVATE gy,
2

y =e*[Acos x + Bsin x]

L3 =1 M(x,y)dx+N(x,y)dy =0 » ¥, M(x,y)=2xy’ +3x7y » N(x,y)=2x2y+x* » %57 1AV apjie - (5% )
. oM OoN ON ¢ R T s —+
Sol: == =4xy+3x® = T EL -7 (exact) &5y A
oy x F
f(x,y)= _[(2xy2 +3x2y)dx + A(Y) = x2y2 + x°y + A(y)
f (X, y)=j(2x2y+x3)dx+B(x)=x2y2+x3y+ B(x)

Peifig B2 U BT THAEEL Xyt +xPy =c

LA =IHD M(x, y)dx+N(x,y)dy =0 > &, M(x,y)=2(y*-3) » N(x,y)=2xy > S5 [HN="1(x) « (5% )

Sol: oM/oy—oN/ox _4y-2y 1
N 2xy X

s
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HioTHN=T 1(x) = expfidx = exp[In x] = x
X

157 x*—y?=k PuI=2 st (5% )

Sol: x*-y*=k
2xdx —2ydy =0
dy _x
dx y
S5 22 ~Fm )\ dy y
/\ ; II\JP« \j;\r:, ) __r
L
dy _ _&
y X

Iny=-Inx+C,

Inxy =C,
=0l xy=C

1.6 y'+4y' +3y=x-1 V=i (5%)
Sol: r?+4r+3=0

r=-3 r=-1

y, =C,e +C,e”
_'&J y, =kx+k, [£°
4k, + 3k, x+3k, =x-1

2. lﬁjﬁbﬁ?[ﬁ: i1 (25%)
2.1 [FHz e (o) =tsint > HIEE 0 AL £1F©0]=7 < (5%)

2s

Sol: £[f(t)] = £[tsmt]———£[smt]———(

ds s? +1 (SZ+1)2

S+3

22 T (OF9E T P £01 1=

3 -1 S 3
fi)=£>F +
® [ ] [32+32 s? +

>]1=C0s3t +sin3t

Sol:

SRS (@) - (5%)
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2.3 =AY T (O 34 i £[f(t)]=si4 IR () - (5%)
. _£1 i :i
Sm.fm_ﬁ[g]m

LS Bl (\EE b 2 b S s+3 e

2:4 =AY T (OFOFE Pt S 101 = o RO - (5%)
Sol: f(t) :£-1[L3] :£-1[__]/2+£ :_le’t +§e3t

(s+D(s—3) s+1 s-3 2 2

b0l Rt (p i S - (5%)

-1, 1<t<?2

2.5 FrErt® :{

Sol: a

n

1 e2
=1L f (t)cosnztdt =0

1,2 . 1. 2 .
b, :ifof(t)sm nztdt = Iosm n;z'cdt—_[l sin nztdt

0, neven
- i n odd
Nz
4 sinzt sin3at  sinb5at
f(t)_;( 1 + 3 + c +--)
3. ALt B (25%)
3.1¥EF§IC=AB’EHC=?(5%)
1 0
2 2 3 -4 4
Sol: czAB{ } 0 -1 { }
3 -5 1 1 7
-2 2

3.2 CUHiC =2 (5%)
Sol: cu[“‘ ‘T{“‘ 1}

1 7 4 7

3.3 C S~ I [c| =2 (5%)

-4 4

Sd:M=h ;

‘:-28-4=-32

3.4 Cpu~ififfict =2 (5%)

7 -1 7 -4
Sol: ¢ = /C|= /-32
-4 -4 -1 -4

35 |C-Aal=0 ’ﬁﬁﬁ%ﬁil(eMenVMUe),&=?(5%)
—4-34 4

1 7-2
A2 -31-32=0
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4. [p|E AT (20%)

“IHlfEH a=57 +3] > b=6i -8]
41 a [paipuel o |al=7? (5%)

Sol: |&|=+5%+3% =+/34

4.2 b [pERVET R =2 (5%)

Sol: vzg:& -8j _3; _ﬂ]
|b| 10 5 5

.- E‘ FLJ /4?— %?j;r,’) (5%)

Sol: = ¥R \=—|a><b| 5734
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